
ANSWER KEY OF SUMMIT 1 UNITS 3 TO 4  

 

A:  

1:F                  2:T                 3:F                4:F             5:T  

B:  

1:Beach                  2:money              3:buy a new camera                  4:news paper 

C: 

1:costs                    2:takes up                   3:operate             4:casual          5:striped              

6:elegant 

D: 

1:track                    2:save                     3:debts                  4:formal              5:plaid            

6:conservatively 

E: 

1:hadn’t eaten                   2:should have got            6:have eaten                 4:anybody        

5:a few               6:all the money 

F: 

1:you’d studied              2:pass                    3:got               4:anything          5:none         6:everyone 

G: 

1:2                 2:1             3:4           4:3      5:1         6:2 

H: 

 

I: 

1:F                2:F               3:T                4:T            5:F 


